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I Spy and Count to 20
Count the number of autumn reloted items and write the numeral and number
word in the box
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In the number {,—-—} f;—;}* , what iz the value of the {._-} ?

In the number ':E. -1.3:} t;{) , what is the value of the é) ?
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In the number pﬂ , what is the value of the = 7

. .
In the number |_f i I" , what is the valus of the S 9

o+
. ¥l
e A
SEEer
& —
i




Greater Than or Less Than

Count the autumn objects in each box. Then, draw the correct symbol in the
muddle box to show which is greater. Remember - the crocodile always wants
to eat the bigger number. The first one has been done for you.
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